¥2F HBEML
2.1 HALB|FE
2. 1
1. A7) B(;) C(-1) D(-35)

2. 1%

3.5 19

4.(1)24 (2)3 (3)7 (4)70

5.(1)28¢cm (2)-14 (3)88cm

6.(1)(2,0) (2)(2,6) (3)(6,7)
(4)31) 6G)A7) (6)(7,4)

7.(1)3,1 (2)4,2 (3)5,1

7. AB3,2) B(6,-3) C(-3,5)
D(- 4+ ' E(6,0) F(0,-3)
G(-6,: H(48)

8. ¢

9.ADE -~ BC -~ HI -~
FGJ ~ L ~ K

10. B(-2,-1) D(2,3)

11.(1)3 (2)2

12. (1) A(7,-24) (2) 24 km
(3) 7 km

13. B(-15) C(5,-1)

14. (1) P(5,—4) (2)Q(2,-6)

15. a=-5 P ¥| x #hiEdr=2

16. A(5,-12)

17. P(512) Q(13,10)
(x=5, y=12)

18. x=6, y=-1

19.(1)(3,4) (5,4) (2)(-5,-4)

(3)5D (4G4
20.(1)= (2= (3)z (4)y b
21, =

22. a<0,b>0

23.

I

(a<0,b<0)

24. - (a<0,b>0)

!

25. (b~c2%)

26. = (x>0,y<0)

27. = (x=-2,y=2)

28. = (x=1, y=-2)

29. o xghlt “%@!%}«J‘z S E]
e+ 2

30. 10

31.6

32. g

33.8

2.2 =it RAEXERZ
1. (0,3)(L5)

2. a=-1,b=7,c=0,d=11

4

12

X004

[NCRIEN

X
y ‘ -2 ‘ 0 ‘ 2 ‘ 4
5. %
6. a=-4,b=10,c=-8,d =20

7.416. W%

17. (1) B(-2,-2) C(3,—-2)
(2)y=3 (y-3=0)
3)x=-2 (x+2=0)

18. —x+3y=-1

19. y=-2x+1
20. y=-2x+1
4 1

21. D(5,7) (y=§x+§)
22. k=-2
23.(1)y=3 (y—-3=0)

(2)x=2 (x-2=0)
24, y=x-1 ( x—-y=1)

25. y=3x+2 ( 3x-y=-2)
26. 3Xx+y=1

27. ()%  (2) A(3,0) B(0,2)
(3)3

28. (1) A(0,1) B(-5,1) C(-5, g)
@2 @2

29.(1)= (2)= (3)z (4)-

30. (1) (2)= (3)= (4)-

31, -

32. =

33. a=1, b=-3

34. a=3, b=-2

35.(1)x=2, y=1 (2)k=1

36. (1) A(-2,2) (2)B(2,0)
(3)C(-10) (4)3

37.(1)& "5 mfz Qx> E L

38. (1) &3 (2)m WL 7



39, . (m=3,n=-6)

40. -16 (a=-10,b=9,c=-15)

41. a=Z
2
4. (1)y=3x+11
7
—-5x+9
2)y =
(2)y >

(3)1(a=1,b=2)

EREERE(ER ~ FF - £538)

1.B2.€3.B4 D-B5.C
6. C7.A8 D9 D 10A
11.A 12.A 13.D 14.C 15.C
16.€ 17.€C 18.D 19.A 20.A
21.D 22.A 23.B 24.A 25.C
26.A 27.C 28.A 29.A 30.A

31.A 32.C 33.B 34.D 35.B



